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Note : Attempt any five questions. All questions carry 
equal marks. 

. (a) Fill in the blanks : 	 5 
(i) Glucose on heating with strong 

mineral acid gives 	 
(ii) Nucleolus is the site of 	 

synthesis. 
(iii) The active coenzymatic form of folate 

is 	 

(iv) The discontinuous short fragments of 
DNA formed during DNA replication 
are called 	  

(v) 	  is the most abundant 
class of immunoglobulin in serum. 

(b) Explain any two of the following : 
(i) ATP has higher phosphate group 

transfer potential. 
(ii) DNA replication is semiconservative. 
(iii) Rous sarcoma virus responsible for 

malignant tumor is called a retro virus. 
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2. (a) Define the following terms : 	 4 

(i) Mutarotation 

(ii) Isozymes 

(iii) Carcinogens 

(iv) Zwitter ion 

(b) Draw the structure of any two of the 
following : 	 2 

(i) Galactose 

(ii) Glycerol 

(iii) Glycylalanine 

(c) Describe the role of photosystem II in 
photosynthesis or ribosomes in protein 

biosynthesis. 	 4 

3. (a) Indicate whether the following statements 
are true or false 

(i) Linolenic acid is a monounsaturated 
fatty acid. 

(ii) A freshly prepared solution of glucose 
has an optical rotation of 52.7°. 

(iii) DNA denaturation is accompanied by 
an increase in absorbance at 260 nm. 

(iv) Most naturally occurring fatty acids 
contain odd number of carbon atoms. 

(v) Glycine is an optically inactive amino 
acid. 
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(b) Differentiate between any two of the 
following pairs : 

(i) Microtubules and Microfilaments 

(ii) Sphingolipids and Phospholipids 

(iii) Transcription and DNA replication 

4. (a) Describe the process of production of 
penicillin by fermentation. 

(b) Write the metabolic fates of pyruvate in 
aerobic and anaerobic condition. 

5. (a) Write short notes on any two of the 
following : 

(i) Regulation of glycolysis 

(ii) Mechanism of enzyme action 

(iii) Cell theory 

(b) Name an enzyme/protein that requires the 
following metal ions for their function : 

(i) Mo+2  

(ii) Fe+3  

(c) Name the principal source and the disease 
associated with the deficiency of the 
following vitamins : 

(i) Niacin 

(ii) Vitamin D 

(iii) Folate 
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6. (a) What are ketone bodies ? Under what 

conditions are these formed ? 

(b) Describe the entry of glycogen into the 

glycolytic pathway. 	 3 

(c) Name the different types of blood groups and 

state the basis of their classification. 	3 

7. (a) Give the salient features of the 

Watson — Crick model of DNA. 	 5 

(b) What is the difference between plasma cells 

and lymphoblasts ? State the type of 

immunity produced by these cell types. 	5 
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1. () 	T2TRI*t 	-0* : 	 5 

(i)7-4-a tiPm aTir 	Rri4 	-T-4qZ 
IT4T 	 tdi t I 

(n) -etcroti cit.f 	 tiqc)tiui fir TgrR 
	t I 

(iii) 'fir Z 	k.111 1-11 
aldi t 

(iv) DNA aTjt-% * WT4 -4-4-  ciO DNA 
aRkd r wis 	wo-A t 

(v) 	of 4 .34P4t1 	 *T IT-014 
aTRT* dtiPtici W 	 >11di 

PHIZIRsid 4 %-41 	oditisql 	: 
(i) ATP *TT- 	ti T2T134{uTf413T4 
	 t I 

(ii) DNA 	ap-i*aft 	d1 t I 
s 	H 3 	R.R 31tc141 r 1741T1 
aqiuj*) trqq• rattfuj t,t) 	I 
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2. () 
	

iv! 	trfol-rrEm*I-r—A-R : 
	 4 

(i) puT 

(ii) kii-11*4-1 

(iii) ••wA.i 

(iv) zil--grftEz (-Rzre-K) 3l-r14 

(i)  

(ii) -F0k140 

(iii) 401410 

(TO 51cto1-47avrr A sictoi:ftwrzr II 3121W 51-itk 

	

c1-147*fuT A 	 *'t itigr*-T 

I 
	

4 

3. () 11-'i WI Wanl A fie am grid 	: 	5 

(i) 	 aTga 	,0-344-1-cd qffr 
t 

(ii) c 	* .341 wrg q-IR T 'ftKg-q 
pur V1.1 	 52.7° 	t I 

(iii) DNA Picpcfictrtul 	172T-1721.  260 nm 
ard*Ef Erf alrcc1I t I 

(iv) si-r-t-f-d- 	A 39-0Tea 3TRITaT qqr 
A cnici-i trkTrrojall .t- 	rqt14-1 	t 

(v) /.1fER. 	g4(fr 3TEku4 -1:11R)• 3Tir 
t I 
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(w) Pi-iioRgi 4 	41-A. 	PTE 
A'rr-A-R• 	 5 

(i) viT 
(ii) 4441W4s 
(iii) MIT DNATAT% 

4. () "kil4q TTI 	 dc41q-1 *1 stmi 

au -*Fr-4Rl 	 4 

(13i) criercilq err 3T414-4t4 Trri-Pri-d-41 4 trr-0-4z 
3414m1 	l AZA feETR 	 6 

5. () PIHRiRsicr 4Wei- 0- 	Ti-ica.  dui uvii 
foluR : 	 5 
(0 	Joi*chiciii-i i 1041-11 

111-1 I;beil  

(iii) ch)Nlchl RTZR.  

311 . 91W-1/54-a4 	WUR N-4k 	 

	 Pii-irortgcr ti-rg 3Tr491 	ai-m4T-dr 

#. 	 2 

(i) mo+2 

(ii) Fe+3 

(T) 
	

Id! 	 MIT 

3.1911 	 414111 Tr RTIT 	: 

(i) 

(11) 	cle.1 1-1-1 D 

(iii) 1:04Z 
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6. () *t-a4 TKO 	61 	f+7 trik-Wdzil 

	

? 	 4 

(13.) 	 tr4 	iziwt),TH * Mdxi air W49.  

Ar-A7 I 

(TT) TT Tripl * WI Mct) 	TIT fAiR 

31 11  cbtur 	aTTITTK K1I 	I 

7. (") DNA 	alem-1 — Gbct> HISc1 * T944 .4.174 

aai*L I  

(V) 1 171;T:rf cf;$14)1311 err 6111 	4Mf -441 

3 	? T  cb)Dicni sictfla 	dram 5464.74 

meta erilv 

3 

3 

5 
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